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March/2020 New Braindump2go 300-410 Exam Dumps with PDF and V CE Free Released Today! Following are some hew
300-410 Exam Questions,New QuestionRefer to the exhibit. A router receiving BGP routing updates from multiple neighbors for
routersin AS 690.What is the reason that the router still sends traffic that is destined to AS 690 to a neighbor other than
10.222.10.1?
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A. Thelocal preference valuein another neighbor statement is higher than 250.B.  The local preference value should be set to the
same value as the weight in the route map.C.  The route map is applied in the wrong direction.D.  The weight value in another
statement is higher than 200.Answer: CNew QuestionWhich list defines the contents of an MPLS label?A.  20-bit label; 3-bit
traffic class, 1-bit bottom stack; 8-bit TTL.B. 32-bit label; 3-bit flow label; 1-bit bottom stack; 8-bit hop limit.C. 20-bit label;
3-bit flow label: 1-bit bottom stack; 8-bit hop limitD. 32-bit label; 3-bit traffic class; 1-bit bottom stack; 8-bit TTLAnswer: ANew
QuestionA network engineer isinvestigating a flapping (up/down) interface issue on a core switch that is synchronized to an NTP
server. Log output does not show the time of the flap.Which command allows on the switch the time of the flap according to the
clock on the device?A. clock calendar-validB. service timtstamps log datetime localtime show-timezoneC.  service timestamps
log uptimeD. clock summer-time mst recurring 2 Sunday mar 2:00 1 sunday nov 2:00Answer: ANew QuestionRefer to the exhibit.
An P SLA was configured on router R1 that allows the default route to be modified in the event that Fa0/0 losses reachability with
the router R3 Fa0/0 interface. The route has changed to flow through route R2.Which debug command is used to troubleshoot this
issue?
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A. debugipflowB. debugipdaerrorC. debugiproutingD. debug ip packetAnswer: CNew QuestionRefer to the exhibit.
What isthe result if applying this configuration?
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Match: access-group name BGP
drop
Class-map: class-default (match-any)
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A. Therouter can form BGP neighborships with any other device.B. The router can form BGP neighborships with any device
that matched by the access list named "BGP'C.  The router cannot form BGP neighborships with any other deviceD. The router
cannot form BGP neighborships with any device that is matched by the access list named "BGP"Answer: ANew QuestionRefer to
the exhibit. During troubleshooting it was discovered that the device is not reachable using a secure web browser. What is needed to

access-list 100 permit udp any anv eq 443 i
access-list 100 permit udp any eq 443 any |
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A. permit tcp port 465.B. permit tcp port 443C.  permit udp port 465D. permit tcp port 22Answer: B New QuestionWhite
working with software images, an engineer observes that Cisco DNA Center cannot upload its software image directly from the
device. Why is the image not uploading?A. The device must be resynced to Cisco DNA CenterB. The software image for the device
isinbundle modeC. The software image for the deviceisininstall mode.D. The device haslost connectivity to Cisco DNA
Center.Answer: CNew QuestionWhen provisioning adevice in Cisco DNA Center, the engineer sees the error message " Cannot
select the device. Not compatible with template.”. What is the reason for the error?A.  The software version of the templateis
different from the software version of the deviceB. The changes to the template were not committedC. Thetag that was used to
filter the templates does not match the devicetag.D. The template has an incorrect configuration.Answer: CNew QuestionDrag
and drop the OSPF adjacency states from the left onto the correct descriptions on the right.

Answer:
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ExplanationExchange = Each router compares the DBD packets that were received from the other router2- way = Router exchange
information with other routers in the multiaccess network Loading = The neighboring router requests the other routers to send
missing entries Exstart = The network has aready elected a DR and a backup BDR Init = The OSPF router ID of the receiving router
was not contained in the hello message Down = No hellos have been received from a neighbor router New QuestionRefer to the
exhibit.
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A router receiving BGP routing updates from multiple neighbors for routersin AS 690. What is the reason that the router still sends
traffic that is destined to AS 690 to a neighbor other than 10.222.1..1 ?A. The weight value in another statement is higher than
200.B. Theroute map isapplied in the wrong direction.C. Thelocal preference value in another neighbor statement is higher
than 250.D. Theloca preference value should be set to the same value as the weight in the route map.Answer: BNew
QuestionWhich attribute eliminates L FAs that belong to protected paths in situations where links in a network are connected through
acommon fiber?A. Interface-dispointB. Linecard-digointC. Shared risk link group-digointD.
L owest-repair-path-metricAnswer: CNew QuestionRefer to the exhibit.

Network operations cannot read or write an configuration on the device with this configuration from the operation subnet. Which
two configuration fix the issue? (Choose two.)A. Modify SNMP rw permission in addition to version 1.B.  Configure SNMP rw
permission in addition to community ciscotest.C. Modify accesslist 1 and allow operations subnet in the accesslist.D. Configure
SNMP rw permission in addition to version 1.E.  Configure SNMP rw permission in addition to community ciscotest 1.Answer:
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